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2019 (A) 0/l Ak
SSC PART-| (9th CLASS) 4

GEMERAL MATHEMATICS GROUPA b - o] Pz

TIME ALLOWED: 2.10 Hours SUBJECTIVE ¢1L» £a10 = &
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number bk i 6»/:}:2/:'/,"‘}'4;:{‘5(;}'3 R

and its part number on answer book, as given in the question paper. ==
SECTION-! (i

2. Attempt any six parts. 12=2x6 Eifelplimge§f 2y
(i) Define Inverse Proportion. -40-»5’/‘1(;}:",«5 (i)
(i)  Express 715 s percentage, -!de’u&/ ;—5 (i)
(i) Find the ratio of Rs.72 for 24 to rupees 4 each. ._é_’(P.-,g'dw&,.,, 4L fipnd £ 24 ¢uT2 (i)
(W)  Define Zakat LG W
(v)  Calculate Zakat on silver amounting to Rs.3,00,000/- .é',’}”ﬁ(}{gﬂ;keu 3,00,000 ;.M;jiy/_’j (v)
(vi)  Define Profit Lt W
i) - Find the CF when SP =RS.2640,loss = 12%. ) oed = 2640 £ o = 12% Egeuied i)
(vil) - Define Discount Oé/ -4—9/&4’ (vi)
(i) Define ATM Card L -7 )
3. Attempt any six parts. 12=2x 6‘9/0 -gff_//.;g'zifzﬂgc.d/ _.SA‘Jtr
() Defe Financil Lease 2. LG
(i) Asaies tax of 16 % is imposed on ?b'ﬂtyfkiﬁ'.u 18000 .-,«Ee,,ﬁ e vl ¥ 8% 4058 (i)
Television, if the marked price of TV is Rs, 18000, Find the amount of sales taé O o
(ii)  Define Excise Duty. (s LA G
fn ol Vo3 y" .
(v}  Express r\;l; in exponential form. Y J;FJV:JI( = (iv)
a a
413 4 3
(v}  Simplfy. 32+ <3 y‘-‘. )2+ x?y—g -Q{J (v)
(i) Write 0.525x 107 inthe decimal form LBl 052507 )
(vi)  Witethe frst three tems of a, = 3 + 5 an=3n+5 VIEES ks (i)
(vil) - Define Geometric Sequence (Progression), y ..:_s‘.gi&.wq/: (vi)
() Find the 5th term of GP. 4, 12, 36, -~ - - E 8 4 -12,36 - WP ()
4. Attempt any six parts. 12=2x6 .é;jaw&lm{;df A4y
(i)  Define Universal Set. Lafleniy )

.é:r:“’ AUB ;'!fB={2.4,6.8.10}u' A4={1,2345} V] (i
() I a={1L2345}and B={24.6810}thenfnd 4UB
(é.';;'ﬁ)



()
(v)
(v)
(v

(vii)

(ix)

NOTE: - Attempt any three questions.  24=8x3

5.(A)

(8)

6.(A)

(8)

7.(A)

(8)

8.(A)

(8)

9.(A)
(8)

= (2)
fa=1{356}and B={1.3} thenfind Bx 4 -EPBxABB+ {13} Ha={356 }/l. (i)
Define Cartesian Plane. Lk W
Convert 220°F into °C Eas oo f20°F ()
Draw point A4 ( 2,0 ) on graph. / .&;;QJJ//A(Z.OW (vi)
Define Median Ll ()
Forthe dataset, 6, 2, 4, 3, 4, 5, /4 5 FindMode. -/ 6, 2.4,3,4,5,.4, 5 el (vil

e 10,18,9.62 [

Find the fange of the date 10, 18/9, 6, 22.
| SECTION-II (1P

"//uu.?éul”fg:&d/ -u;
LML iDLt g 6 a5 A A ULt ()5
Amanglehassldesoﬂengﬂwsaan 4 cmand 6 cm.
Fmdmeraboofﬂ\elengthsofmesdesbmanother ¢
L& pbidiy (30 5000) 17 50 Gspain 400, (\#e_1 800,000 Mir ()
CalwhteZakatongolddwmthRs&OOOOOWammntstoooo silver of weight
50 tola {Rs.5000 pef tola) Oé/b

Q/(!b d ‘J e 4714 & }L.,vufd,u /JJU/LJ\?,OM&J: LA‘A)@L"/W/;’ ;H’I ()6
As!anxAnwatandAhameamdapmﬁtofRﬂSOOOOfwmab«%! r investments in the
business are of ratio 4: 7 14 respectively. Find the profit of each.

Hthe sinple profton Rs 640 fo 12years [ /il Bue %Lw 240080/ ()
is Rs.384. Find the rate of profit.

¥t B2 5% e e ALy 3000 WFigielfl_gLna3000 bt fiFd (07
The total taxable income of a person is Rs.4,30,000. If he is given rebate Rs.3000 on the tax
chargeable then workout the amount he has to pay as an income tax @ 4.5 %.
Solve 69,13 x 0.34 x 0,014 with the help of logarithm table. .é cu&,u[.ﬂ(}/ 69.43x0.34x0014 (L)

Find the number of terms in an A.P. if a=3, d=4, a,=59 éq/?}"ﬂ&f(ww ()-8

-v.‘(bludb‘,g.; XxY ¥ y={2448} A x={035}/ (&)
fX=1{0,35}and y={2 4,8} then establish any four binary relationsin X x ¥

Draw the graph of » = x + 7 Sudfl y=x+7 ()9
Find the Mean and Median for e setof the values  —//#uibist 4,6, 7,4,8,9,7, 10 & (2)
4,67,489710

F3-2019(A)-80m (MULTAN)



2019 (A) i A
SSC PART-l (9th CLASS) :
GERERAL MATHEMATICS GROUP- o) Sl

TIME ALLOWED: 2.10 Hours SUBJECTIVE ./¢» o0 = o
MAXIMUM MARKS: 60 60 = AF

NOTE: - Write same question number +e;¢;_44lr.635‘£ (-,»/;Zul/dlrm{q,éb’wz <
and its part number on answer book, as given in the question paper.

SECTION- i
2. Attempt any six parts. 12=2x6 -é/ ::«p:télzl{c.éf -Z/fu'lr
i) Express following percentage as fraction in their lowest form:- Y. gtfuvTJu;/AéQSé;: (i)
(3)95% (b)75%
-/ /((P.:—-_J‘J)IA;‘J%M?:c’fé/';'u,mb-'?' .c.-t/ &fdrs/ 20 .J/‘m(/'?b'?.c 7 fp/;.'fiu? 170 H' .‘Jlﬁ.{f (i)
() Astudent spend Rs.70 every day but on Sunday he spend Rs.20 only. Find the ratio of number of rupees
spent on Sunday to every day.

(ii)  In what ratio 60 m be decreased to 24 m2? e CWIRE 2 el 80 LS i
() Calculate Zakat on gold amounting to R 11,10,000 LR 100000 SASLe S ()

M Apesonleta . pReAdelindnisdnL S A 3000000 LAl (9
property of Rs.30,00,000. Calculate the share of Qg\wwe in property, if he had not any child.
V) FindSPwhenCP=Rs950,Profit=10%  “(/  10%={ wuB80=sicd by fbcnicd W)

(vi)  Find C.Pwnen S.P. = Rs672, Profit=5% L, 5% 0 &nbl2=chjclfyfitiicd i)

(vii) ~ Find the selling price when M.P = Rs.728, 6 %.?,«;O/ & 128 = cduwlnly pesicd (i)
discount = 6 % )

() Whatis meant by Inheritance? £ el (W

3. Attempt any six parts. 12=2x6 Cegsfelplimge 8 34

() Howmany kinds are of Insurance? Wite their names. ' -[#ffﬁu' ?L{rﬁlf@ﬁ (if

(i) Define Indirect Tax . SIS )
(i) Acomputer pice isRs 34800 /PR MG e SK 16% e L M0 I D G
inclusive of 16 % sales tax. What is the original price of the computer?

(V)  Simpify. 3 x y7 BT 4P W
(v) Wit 0.00000075 in Scientiic Notation. Uil ooonors v
(vi)  Write the base and exponent of 18x° -u'-‘f\":«i/ﬂu’\r‘cﬁ 18 (i)
(vi) FindAMbetween 7 and 347 AAPSE T AT i)
(viil)  Write the first three terms of @ = (=1)"n° L ap =0 i)
(x) Findthe GM. between 2x*and 8y AP pdenl 8yt 22 ()
4. Attempt any six parts. 12=2x6 Efeelimge o )y

EPUNBINC I C={3,4,57} #B={4689} 1={147.8} 1 )

() Ha={L4,7,8} B={4,689}adC={3457)thenfind (ANBNC 2

(i) HA={356}andB={13}thenfindAxB . Eo AxBiB={13}04={356}/ (i
(Z‘.JJ/,)




EY o .
(i) If C= {12 } then wrte the number o Aafulés cxcke={12}1 4 G
binary relations in ¢ x C ' ®
(v) Define Ordered Pair Eaflergy W
(v)  Representthe point B ( 3,2) on the graph. -_é,;&'pl/f B(3R2)8 (V)
(vi) Convert 95°#to ¢ (celsius) .édﬁ(é/é:‘) cof 95°F (W)
(i) Find Mediar: 3, 5, 6, 8, 8, 9, 10. 3,568,809 100 (Vi)
\vii) Define Cumulative Frequency. ES S8 (i)
(1) Find the range for set of data. 6, 8, 10, 14, 13, 12 Epofr W
SECTIONAI (1.2 ,
NOTE: - Attempt any three questions. ~ 24=8x3 -,&f;/.:,gmﬁamrd;df &

5(A) The price of 80 shis s Rs.22000 e 0 2000 E R 80 (IS
What would be the price of 30 siich shirs? _
.g{(?’)l’&.{’,{;'uxq Jﬁug;.gf.éyé.dl)’l i 3,30,000 .')_lJJ‘é&JJ’ -W;:«Gﬁfwﬂgiu‘? .{' (h.d)
(B) Theammtofapmpeﬂyleﬂbydeoeasedpe«so@tobedlstﬁbutedamo his daughters is
Rs.3.30,000. ff he had left three daughters only, m%zw be the share of each daughter,

7
6.(A) Distrbute Rs 200,000 35 a poft £3:2:5 PN T 00 LE (N8
in a business regarding three persons, f their shares are in the ral '2:5|.
(B) Find the compound profit on Rs 54000 for Enp el 12% &Lty 54000 ()
one year at the rate of 12 % per annum. 4

-_ép‘vﬁf'uwc 6 45% 74T 2o 310,000 5y 250,000 KT A TR,
7(A) The total taxable income of two persons is Rs.2,50,000 and 3,10,000 respécﬁvely.
Workout the income tax for each of them @ 4.5 %.

B) Solve L“i’r%’i with the help of logarithm table. el f04 53771‘_7:2‘. ()
8(A) Insertthree geometrc means between 486 and 6 P pbienl 6 4486 (B

gl R WR={(ab)abewda+2=16}/ ()
(B) If R={(ab):abew 3a +2b =16 } then find domain and range of R

9(A) Drawthe graphof y =3¢ Jual y=3x (.9
(8] Find the standard deviation for the values P £1,2,3, 4. 8.8 1w (S
1,234,681
35-2019(A)-15000 (WULTAN)



PAPER CODE 2019 (A) @ /l) A

NUMBER: 1 261 SSC PART-| (9th CLASS)

GBNERAL MATHEMATICS GROUP-| bt - s/ S

TIME ALLOWED: 20 Minutes OBJECTIVE ;f}ﬁy w20 = 2

MAXIMUM MARKS: 15 15= A
A oF | FARASEFL e el s b Mregd¥lie - g5 0 . C B LA Sl L Sy -

iUt Vi wﬂ‘n;J:fﬁ.u:‘JL/;i Sz N e B 3 PN 5 2 51 g YA e LT e,
Note: You have four choices for each objective type question as A, B, C and D. The choice -g{/ad”//.-'-\- -
which you think Is correct, fill that bubbie In front of that q tion ber. On bub heot, use marker or pen
to fill the bubbies. Cutting or filling two or more bubbles will result in zero mark In that question. Attempt as
Mmany questions as given in Objective type question paper and leave others blank. No credit will be awarded
In cuse BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Fraction form of 70 % is- < B 0% ()
(&) 70 ®) L~ () 10 ©) 7
10 7
(2) 30 % of 1500 is:- < 30% €150 (2)
(A) 700 (8) 750 (C) 600 (D) 450
(3) If there is one daughter and agnatic grand daughter, their by LiL e A LS (3)
shares are respectively:-
11 ) 11 ii.d
BE B 33 Q33 Brs
(4) Ifthere is only a single daughter then her inherited = e 2L G LA (4
@)1 ® 5 @37 ol
$:. 9y ! o
(5) The price atwhich a partcular tem is purchased s called:- Ozl eyt d Lzl ()
(A) CP sicd (B) SP =3y)=] C)Proft & 7. (. (D) None of these 2z 2o
(6) The periodic installment to the paid by insured is called:- Q el slnd @)
(A) Bonus /% (B) Discount 5£.5  (C) Premium 2%, (D) Markup itk

(7) Abill of exchange drawnona e tlk/ Lo S F b ST E S g?ﬁc&/f".gx‘}m; (7)
specified Banker and not expressed to be payable otherwise then on demand is called:-

(A) Cheque 5 (B) Pay order JLie.  (C) Bill of exchange ¥y, (D) Bank draft 2its
(8) The tax charged from the owner of land, house, fiat -q-rﬂr( gcﬂ,'l:(d!‘:euﬁéolug.‘é -/’nrﬁii‘ﬁu (8)
or building is called:-
(A) Property tax u’%{’{ (B) Income tax f:ﬁ (C) Direct tax f:{bﬂ: (D) Indirect tax g?.b-lig
(9) One has to pay the excise duty at the rate of 15 % Indpfic i 15% ¢Sde 300000 (9)
against an amount of Rs.300000:-
(A) 450000 (B) 45000 (C) 4500 (D) 50000
(10) In 43, 4 s called-- WE W 4 245 (10)
(A) Base U/ (B)Exponent U= (C)lnteger v (D) Radical /i
(11) as of 2,6, 18 is:- eyedfas L2618 (1)
(A) 160 (B) 161 (C) 162 (D) 30
(12) AMbetween 3 and 3,3 is- et V3 a3 (12)
(&) 23 (B) 5V3 (©) 93 (0) 43 ,
(13) WU ={1.23}and A= {1} then 4C =7 A= ma={1} 2 U={1,23} S (13
() {2.3} ® {12} © {13} (D) ¢
(14) For x=1in2x + y =6 thenfind y =? y="7 eix=1 & 2x+y=6 (14)
(A) -4 (B) 4 (C) 8 () -8 X
(15) X(X; - X)=0 isone of the properties of - -q.ryu'ch FZ(X-X)=0 (15)

(A) Arithmetic mean &-sjl> (B) Geometric mean s}~ (C)Harmonic mean s+iés4 (D) Mode 1k
33(Obj)( ¥7)-2019(A)}-8000 (MULTAN)




FAFEK GUDE 2019 (A) b‘ g”! ey
NDMBER: 1262 SSC PART (th CLASS) :

GBNERAL MATHEMATICS GROUP-I IS -
TIME ALLOWED: 20 Minutes OBJECTIVE (.0 2= D
MAXIMUM MARKS: 15 15= AF

P /Zﬂzu»&%,.uy s uub.&f{.:ab;..,br,qqr;}u -ZLE DM C.B.A AR L e et d
¢ -‘L?!J/JJUM"L{L/-4 Kozt -l‘n»‘llk,_uu/.g‘..»ﬁfl_f‘ Jov .qu(pzlmsar_-{'
Note: You have four choices for each objective type question as A, B, C and D. The cholce -.gf..,.b}...w
mhhmmtbuommmmlnMIMqu . On bubble sheet, use rkor or pen
to fill the bubbles. cmﬂnormm«mbuhbb.wllmunhmmm that question. Attempt as
mqm-ugﬁummququ-umuwmn.nmm No credit will be awardod
hmﬂuamammm mmu”’qm‘mmm-mﬂwm PAPER.

Q.No.1 | ﬁUly

(1) % in terms of percentage is:- DY (0 % (1)
(A) 3% (B) 1% (C) 33% ) 331%

(2) Inaproportion a:b::c:d, "a" and "d" are called:- WGEW "d" e gogfaibiicd
(A Extemes 25 (B) Means o (C) Antecedents k5% (D) Consequents sk

(3) Ifthere is one daughter and agnatic grand-daughter, -(-wb’uu.':lyb?xd;.f ‘x/»c..,hmf.f il (3)

their share are respectively:-
11 » 11 11

{A) 3's (B) 2'3 C) 3% @35

(4) Zakatis deducted at a rate of-- e 0G5
(A)55% (B)35% (C)% (D) 2.5 %

(5) Lossis there when- e (5)
(A) 8P =yhed =CP 47 (B)SP =352 < Q@ Fad

(CISP ehjed =MP odpmis  (D)SPesyicd >cp @5
(6) The periodic Painenobe pad b s caed- 'Q -wl{&;&{ gLyt (@)
(A) Bonus (B) Discount 2565 (C) Premium (% IS4
m Theamwntmlchispaldbymebankonmedeposlﬂscalbd @E ¢ ? ﬂfu.&zﬁ;d’&/d )
(A) Profit &t~ (B) Bonus (C) Premium (2%, o n%

(8) Taxes of the form of d .meorveric!e are called:- Wltti (8)
(A) Indirect tax J=4-1/4 (B} Direct tax P=rtniz (C) Property tax fd;{; {D) Income tax ué
(9) The tax charged on the taxable income is calle:- <t et )

(A) Salestax (*% (8] Indirect tax 54, (C) Income tax j/. (D) Excise tax Jgs,u’ ;

(10) V2 =2 I I W2 =2 (10)

(A) 22 (B) 2 () 22 (D) 24

(1) ag of 3,7, 11, is:- eV a $3.7.11__ (1)
() 3 (B) 19 () 23 {D) 20

(12) GMbetween 1 and 8 is:- e liad sl 841 (12)
() 242 B) +242 (€) -242 (D) V2 _

(13) If A and B are two non-empty sets then A1) B = 7 AUB=? Jumrlldn B w4 S (13)
(A) ¢ (8) BU4 (C) ANB (D) BN 4

(14) The co-ordinate of origion are:- Rl nlobdl iy (14)
(A) (1, 1) (8) (0, 1) (C) (0, 0) 0 (1, 0)

wa %
(15) Fw = i—”: is calied:- gt Ty = (15)

{A) Avithmetic mean 44> (B) Weighted mean 4#Jiis (C) Geometric mean &I/ (D) Mean b
35(0bj)( 77 )-2019(A)-15000 (MULTAN)




